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Final Examination-First role 2016-2017

Q1: Complete the following sentences with suitable words:  (do 4 only) (20 marks)
1. With e-mail, you can attach and.
2. Aunit which is a very small part of an ampere is called a which is a thousand times smaller than
an ampere.
3. The is defined as the resistance of a conductor that will permit one ampere of current to flow
when a force of one volt has been applied.
4, The is the unit which is ordinarily used in selling electric energy.

5. The force that generates a flow of electricity is called the

Q2:Decide whether the following sentences are true or false and correct the false one: (Do 4 only)
(20 marks)
If the fuse melts then there is a close circuit and current will keep following.
A thin wire has a higher resistance than a thick wire.
Electric currents can flow easily in all substances. .
Society can function without supply of energy.
Silver paper and nails can not be used in changing fuses.
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Q3: For the following words collocate each w ord from the group A to its collocation in the group B:
( " 5 -4 1; - (20 marks)
A: electric, negative, potential, electromotwe, Italian,Voltaic, generating,flowing per,measured in .
B : chargés, force, cell, difference, scientist, current electricity, second , amperes.
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Q4: Translate the followmg text into Arab (Do 3 only} (20 marks)
1. The unit for measuring the electric power is the watt.
2. Resistance causes the electrical energy to be changed into heat.
3. There are two kinds of current flow; direct current, and alternating current .
4. The fuse is a piece of wire which can carry a stated current. If the current rises above this value it will melt.
. -
Q5: Write not less than 40 words , mention your name and where you study . (20 marks)

Note : your name is Ali Aliraqi .
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Answer all questions

Q1: A- Convert the following numbers to decimal system
1-(351.24)3=(x) 190 - 2- (FDA.5)5=(x) 10 3- (11001.11), = (x) 19 (15 Marks)

Q1: B- Convert the SOP expression to POS

Y=ABC+ AB"C+ A" BC "+ AB~ C~ k (10 Marks)
Q2: A-Convert the following numbers (15 Marks)
1- (7263.61)g = (....) 16 2- (F2D.A2) 4= (....)s 3-(10110.11); = (...) 16

Q2: B- Draw the logic circuit for the Equation. y = Z (AB~+BC) (10 Marks)
Q3: A- Convert the following numbers (15 Marks)
1- (573.52)10 = (....) 8 2- (107.193) 106~ (. .--) 16 3- (362.104) 10~ (....) o)

Q3: B- Convert the POS Boolean expression to SOP
Y=(A+B +C) (A +B +C) (A+B +C) (A+B+C)). (10 Marks)

Q4: A- Write the Boolean expression and draw the logic circuit for the truth table
below.
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Q4: B-Draw the truth table and the logic circuit for the Boolean expression
Q= (x+y) (x +2) (13 Marks)
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Q1i//: (15degree)

A-In the single phase full wave rectifier find 1)Py. , 2)P.., 3)FF, 4)RF, 5)CF

B- explain in steps why 3-phase full wave rectifier currents, is preferred of high power

Q2//: fill the following blanks (15 degree)

1- In common base configuration the -------------- is the input current and the -—------—--—-=--—
is the output current. |

2- In common emitter configuration the input signal is applied between the -------—--- and- |
-------—--- while the output signal is taken out from--------- ;

3- The operation region of transistor are and and

Q3//: A. Sketch the differential circuit of OP-AMP , then Drive the output voltage respect |
to the input voltage. (12 degree) |

B. for the differential circuit: if Rf= 40K( and the value of the capacitor is 0.002pf,
the input signal is given in Figl. (13degree) |
Sketch the circuit then Find the output voltage wave form. ;
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Qs//: (15 degree)

The circuit shown in figure below ; show that the output Eo is given as .-

Q6//: RC network for phase shift circuit is used to control the power in SCR circuit; if the
capacitor C= 0.15uF , Frequency 50 Hz and R=30KQ . do ( 15degree)

A-Sketch RC network circuit
B- Find fringing angle (a) in degree
C- Plot the phasor diagram

Q7//: In single phase full-wave phase controlled for inductive load. (15 degree)

A- Sketch the operation circuit then
B- Drive the output voltage
C- Sketch the output waveform if the input was S5sinwt and firing angle =0°
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Q1)A) Using Kirchhoff’s voltage law, determine the unknown voltages for the networks?

+ 30V —

(a) (b)

Q1)B)Find the total conductance and resistance for the networks??
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Q2)Using nodal analysis, determine the potential across the 4- Qresistor ? B
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Q3)Using super mesh analysis, determine the current through 8 Q resistor?

-------------- o

Q5)Determine the Thévenin equivalent circuit for the network external to the resistor
300Q ??




